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General Marking Guidance

o All candidates must receive the same treatment. Examiners
must mark the first candidate in exactly the same way as they mark
the last.

o Mark schemes should be applied positively. Candidates must be
rewarded for what they have shown they can do rather than penalised
for omissions.

o Examiners should mark according to the mark scheme not
according to their perception of where the grade boundaries may lie.

o There is no ceiling on achievement. All marks on the mark
scheme should be used appropriately.

. All the marks on the mark scheme are designed to be awarded.
Examiners should always award full marks if deserved, i.e. if the
answer matches the mark scheme. Examiners should also be
prepared to award zero marks if the candidate’s response is not
worthy of credit according to the mark scheme.

. Where some judgement is required, mark schemes will provide
the principles by which marks will be awarded and exemplification
may be limited.

o When examiners are in doubt regarding the application of the
mark scheme to a candidate’s response, the team leader must be
consulted.

° Crossed out work should be marked UNLESS the candidate has
replaced it with an alternative response
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Question

5C

Indicative content

Arabism ceased to exist.

Traditional school .

Any answer that describes Mrs Ahmad’s point view in positive or negative terms consistent
with the information presented in the source material, e.g. agreement with the view that

Any answer that describes Mr.Tarig’s views in positive or negative terms consistent with the
information presented in the source material, e.g. there are new schools of Arabism beside the

Conclusions consistent with candidate’s line of argument, e.g. The example of Sudan is not
the only one proving the demise of Arabism in the Arab world, or Arabism in its new form is the
way forward given the political and socio-economic changes in the Arab world.

Additional Guidance- Example student answer to 5c¢

The example below demonstrates what a student might include in their answer
to 5¢ and how it may be structured. The comment column demonstrates how
the answer meets the requirements of the assessment criteria in the mark grid

Understand and respond to spoken/written language.

Example student answer

comment
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Makes relevant
judgements on the
spoken source. Also
demonstrates
understanding and gives
personal opinion.

Makes relevant
judgements on the
written source. Also
demonstrates
understanding and
makes some inferences
based on the sources.
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Makes relevant
judgements on the
spoken and written
source.

Also demonstrates
understanding and gives
personal opinion.

This is just an example
of what candidates may
write. Please accept
any point of view that is
well supported and
articultated.

Section B, Question 5c: marking principles

There are three levels-based mark grids applied to Question 5(c). The mark grids

are:
- understand and respond to spoken language (AO1)

- understand and respond to written language, (AO2)
- accuracy and range of language (AO3).

General guidance on using levels-based mark schemes

Step 1: Decide on a marking band

- First of all, you must consider the answer as a whole and then decide which

descriptors

most closely match the answer and place it in that band. The descriptors for each

band

indicate the different features that will be seen in the student’s answer for that

band.

- When assigning a level, you should look at the overall quality of the answer and

not focus disproportionately on small and specific parts of the answer where the
student has not performed quite as well as the rest. If the answer covers different
aspects of different bands of the mark scheme, you should use a ‘best fit" approach
for defining the level. You will then use the variability of the response to help decide
the mark within the level, for example if the response is predominantly band 3-4
with a small amount of band 5-6 material, it would be placed in band 3-4 but be
awarded a mark at the top of the band because of the band 5-6 content.

12




Step 2: Decide on a mark

- Once you have decided on a band you will need to decide on a mark within the
band.

- You must decide on the mark to award based on the quality of the answer; you
must
award a mark towards the top or bottom of that band, depending on how the
student has evidenced each of the descriptor bullet points.

- You must modify the mark based on how securely the trait descriptors are met at
that band.

- You will need to go back through the answer as you apply the mark scheme to

clarify
points and assure yourself that the band and the mark are appropriate.

Mark grids

Understand and respond to spoken language (AO1 — 6 marks)
This mark grid assesses the student’s understanding of spoken language and how
well they use information from it to evaluate and draw conclusions.

Understand and respond to written language (AO2 — 6 marks)
This mark grid assesses the student’s understanding of written language and how
well they use information from it to evaluate and draw conclusions.

The two-mark grids for AO1 and AO2 are presented side by side. This is because of
the

interconnection of the task in that students need to compare information that they
hear to the information that they read. They need to do this in order to weigh up
the views in both sources to be able to write their evaluation and come to cohesive
conclusions.

Indicative content

When deciding how to reward the answer, you should consult these mark grids as
well as the indicative content associated with the question (see below). Indicative
content contains points that students are likely to use to construct their answer. It
is possible for an answer to be constructed without mentioning some or all of these
points, as long as students provide alternative responses that fulfil the
requirements of the question.

13



Understand and respond to spoken language (AO1 — 6 marks)
Understand and respond to written language (AO2 — 6 marks)

Understand and respond to spoken Understand and respond to written

language (AO1) language (A02)

Marks | Description Marks | Description

0 No rewardable material

1-2 + Occasionally relevant 1-2 s Occasionally relevant judgement
judgement expressed on the expressed on the viewpoints in
viewpoints in the spoken the written source; often strays
source; often strays into into description of content
description of content without without evaluation.
evaluation. e Limited conclusions drawn on

« Limited conclusions drawn on written source, sometimes
spoken source, sometimes inconsistent with evaluation of
inconsistent with evaluation of viewpoints.
viewpoints.

3-4 +« Expresses some relevant 3-4 « Expresses some relevant
judgements on the viewpoints judgements on the viewpoints in
in the spoken source, some of the written source, some of
which are substantiated; which are substantiated;
occasionally strays into occasionally strays into
description of content without description of content without
evaluation. evaluation.

+« Draws straightforward s Draws straightforward
conclusions on spoken source, conclusions on written source,
occasionally inconsistency with occasionally inconsistency with
evaluation of viewpoints. evaluation of viewpoints.

5-6 s« Expresses relevant and 5-6 s Expresses relevant and
substantiated judgements on substantiated judgements on
the viewpoints in the spoken the viewpoints in the written
source showing clear source showing clear evaluation.
evaluation. Draws convincing conclusions on

« Draws convincing conclusions written source, consistent with
on spoken source, consistent evaluation of viewpoints.
with evaluation of viewpoints.
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Accuracy and range of language mark grid (AO3)
This mark grid assesses students’ ability to use a range of grammatical structures
and vocabulary accurately to produce articulate communication with a range of

expression.

Marks

Description

0

No rewardable language

1-2

Limited variation in the use of grammatical structures and vocabulary,
limited use of complex language; limited variation of expression relying on
rehearsed language that may be irrelevant; communication is sometimes
restricted/stilted.

Limited sequences of accurate language; often errors occur that hinder
clarity of communication and sometimes prevent meaning being conveyed.

3-4

Occasional variation in the use of grammatical structures and vocabulary,
with use of repetitive complex language, resulting in occasional variation of
expression; occasional sequences of articulate writing.

Occasional sequences of accurate language; sometimes errors occur that
hinder clarity of communication and occasionally prevent meaning being
conveyed.

5-6

Some variation in the use of grammatical structures and vocabulary, with
use of some repetitive complex language, resulting in some variation of
expression; some sequences of articulate writing.

Some sustained sequences of accurate language; occasionally errors occur
that hinder clarity of communication.

Frequent variation in use of grammatical structures and vocabulary,
including examples of complex language, resulting in frequent variation of
expression and predominantly articulate writing.

Accurate language throughout most of the response; errors occur but rarely
hinder clarity of communication.

Consistent variation in use of grammatical structures and vocabulary,
including different types of complex structures, expressing ideas in a variety
of ways, resulting in articulate writing.

Accurate language throughout; any errors do not hinder clarity of the
communication.

Additional guidance

Complex language is considered to include the following:
- conceptually challenging tenses such as the pluperfect and future perfect

- passive voice

- adverbial uses of the accusative such as al-Maful al-Mutlaqg, Tamyiz and al-Hal

- the 'La’ of absolute negation

- expressions of exclamation and wonder, use of subordination

- using extended sentences to express abstract ideas/convey justified arguments

that

require a range of lexis and structures, for example conjunctions, pronouns
- using synonyms and a variety of expressions to say things in different ways.

Variation in use of grammatical structures/varied use of vocabulary: the
traits in the mark grid differentiate between the variation of grammatical structures

15




and vocabulary used by students. Examiners should judge in which mark band to
place students and which mark to award, based on the effect that the variety of
grammatical structures and vocabulary has on the quality of the communication;
the wider the variety, the more articulate the communication will become (see
definition of articulate below).

Examples of a variety of grammatical structures and vocabulary are: a selection of
different verbs, tenses, adjectives, vocabulary and complex language (see definition
above) for a variety of purposes such as to present and justify points of view,
develop arguments, draw conclusions based on understanding and evaluating
issues.

Articulate: articulate communication is fluent, effective and coherent as students
control/manipulate the language to express themselves with ease for a number of
different purposes. The more articulate the writing, the easier the reader can
progress through the writing without having to re-read to understand the message.
If students are restricted to what they can express, they may not be able to use
languages for all purposes, for example to justify arguments/interest the reader.
The writing will become more difficult to read easily as the reader has to stop and
re-read to understand the message.

Errors: students are not expected to produce perfect, error-free writing in order to
access the top band. The mark grid describes the frequency of errors and the
impact that errors have on clarity.

Errors that do not hinder clarity:
- errors that do not affect meaning, for example the misuse of 'inna’and ‘anna’,

some
gender and adjectival agreements, as long as they do not include mismatch of
cases

- infrequent errors that do not distract the reader from the content and which
result in coherent writing.

Errors that hinder clarity:

- errors that make writing difficult to understand immediately (even if the meaning
is

eventually understood)/errors that force readers to re-read in order to understand
what

is meant, for example mismatch of subject and the possessive adjective, spelling
errors

that change the meaning of a word, inappropriate tense formation, wrong case
endings

- frequent errors hinder clarity as they will distract the reader from the content of
the writing.

Errors that prevent meaning being conveyed:

- errors that mean the reader cannot understand the message

- errors that convey the wrong message

- errors that make it unclear who is carrying out the action, for example using the
incorrect person of the verb

- mother-tongue interference.

NB: these are examples only and do not constitute a finite list.
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